

# Ocean County Board of Commissioners

OFFICE OF THE OCEAN COUNTY COMMISSIONERS

Director John P. Kelly
Deputy Director Frank Sadeghi
Commissioner Robert S. Arace
Commissioner Jennifier Bacchione
Commissioner Virginia E. Haines

101 Hooper Avenue Toms River, New Jersey 08754-2191 (732)929-2005 (732)505-1918

### **Board Meeting Agenda**

Date: May 21, 2025 - 4:00 PM

Location: Administration Building

Room 119

101 Hooper Avenue Toms River, NJ 08754

Agenda: Awarding Contracts for the furnishing and delivery of WORK CLOTHES FOR VARIOUS DEPARTMENTS to Bob Barker Company, Inc.; Dependable Sourcing Partners; Dot Designing, LLC; Keyport Army Navy; Renee C. Cannon dba Seaside Companies; and The Olympic Glove and Safety Co., Inc., the lowest qualified bidders. Recommendation is made to reject Item No. 32 as unresponsive. It will be rebid. Item No. 115 will be rebid to obtain additional vendors. (B2025-61)

Official Resolution#	2025000655
Meeting Date	05/21/2025
Introduced Date	05/21/2025
Adopted Date	05/21/2025
Agenda Item	k-2
CAF#	
Purchase Req. #	B2025-61
Result	Adopted

COUNTY COMMISSIONER	PRES.	ABS.	MOVE	SEC	AYE	NAY	ABST.
Kelly	~				~		
Sadeghi	~				~		
Arace	~		~		~		
Bacchione	~				~		
Haines	~			V	~		

I HEREBY CERTIFY THAT THIS DOCUMENT IS A TRUE, COMPLETE AND ACCURATE COPY OF THIS RESOLUTION, ADOPTED BY OCEAN COUNTY BOARD OF COMMISSIONERS, NJ AT THE MEETING REFERENCED THEREON

Michelle 1. Gurther

Clerk Of The Board

#### RESOLUTION

May 21, 2025

WHEREAS, on March 25, 2025, pursuant to legal advertisements therefor, sealed bids were received for the furnishing and delivery of WORK CLOTHES FOR VARIOUS DEPARTMENTS for the County of Ocean; and

WHEREAS, at the advertised time, responses were received from the following bidders:

Name and Address of Bidder

Bob Barker Company, Inc. 7925 Purfoy Road

Fuguay-Varina, NC 27526

(800) 334-9980

Dot Designing LLC 242 Possum Hollow Rd Monroe Twp, NJ 08831 (732) 656-1100

Renee C. Cannon dba Seaside Companies 30951 Hickory Hill Rd Millsboro, DE 19966 (302) 381-1535

Bordova Outfitters 915 East Elizabeth Avenue Linden, NJ 07036 (718) 480-0290

Uniforms of Orlando LLC 1563 Florida Mall Avenue Orlando, FL 32809 (786) 963-5024

Name and Address of Bidder

Dependable Sourcing Partners 133 S. 23rd Street

F12

Pittsburgh, PA 15203 (609) 513-3452

Keyport Army Navy PO Box 985 Brick, NJ 08723 (732) 673-5356

The Olympic Glove & Safety Co., Inc 75 Main Avenue Elmwood Park, NJ 07407 (201) 450-7038

Promo Solutions 11104 Windjammer Drive Frisco, Texas 75036 (214) 726-5838

; and

WHEREAS, after the receipt and examination of same, the County Purchasing Agent has now recommended to this Board that the lowest qualified bids, in each instance be accepted, namely that of, BOB BARKER COMPANY, INC.; DEPENDABLE SOURCING PARTNERS; DOT DESIGNING, LLC; KEYPORT ARMY NAVY; RENEE C. CANNON DBA SEASIDE COMPANIES and THE OLYMPIC GLOVE AND SAFETY CO., INC. Recommendation is made to reject Item No. 32 as unresponsive and will be rebid. Item No. 115 will be rebid to obtain additional vendors

Introduced on: Adopted on: May 21, 2025 Official Resolution#: 2025000655

May 21, 2025

NOW, THEREFORE, BE IT RESOLVED by the BOARD OF COMMISSIONERS of the COUNTY OF OCEAN, STATE OF NEW JERSEY, as follows:

- 1. The Director and Clerk of this Board are hereby authorized and directed to enter into contracts, accepting bids, for the furnishing and delivery of Work Clothes For Various Departments for the County of Ocean, for the contract period from May 1, 2025 through April 30, 2026, or until delivery is complete unless otherwise stated. The County reserves the right to extend the term of the contract pursuant to N.J.S.A. 40A:11-15.
- BOB BARKER COMPANY, INC. for sixteen (16) items, to wit: ITEM NOS. 40, 50, 73, 74, 75, 76, 77, 78, 79, 80, 87, 89, 90, 109, 110 and 115. This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.
- В. <u>DEPENDABLE SOURCING PARTNERS.</u> for seven (7) items, to wit: ITEMS NOS. 33, 45, 48, 65, 106, 111 and 115.

This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

DOT DESIGNING LLC for twenty-seven (27) items, to wit: <u>ITEMS NOS.</u> 1, 2, 3, 7, 10, 12, 13, 14, 15, 16, 17, 18, 19, 27, 28, 29, 35, 38, 39, 42, 43, 44, 49, 56, 108, 114 and 115.

This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

KEYPORT ARMY NAVY for fifty one (51) items, to wit: ITEMS NOS. 5, 6, 8, 9, 11, 20, 21, 22, 23, 24, 25, 26, 30, 31, 34, 36, 37, 41, 46, 47, 51, 52, 53, 54, 55, 57, 58, 59, 60, 61, 62, 63, 64, 66, 68, 69, 71, 72, 81, 82, 83, 84, 86, 88, 91, 96, 101, 103, 105, 113 and 115.

This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

E. RENEE C. CANNON DBA SEASIDE COMPANIES for twelve (12) items, to wit:

ITEM NOS. 4, 85, 92, 93, 94, 95, 99, 100, 104, 107, 112 and 115.

This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

THE OLYMPIC GLOVE AND SAFETY CO., INC. for six (6) items, to wit: ITEM NOS. 67, 70, 97, 98, 102 and 115.

This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

May 21, 2025 Adopted on: May 21, 2025 Official Resolution#: 2025000655

- 2. Payments for the materials to be acquired by this contract shall be made upon the approval of vouchers submitted by the successful bidders in accordance with the requirements of the Board of Commissioners and subject to the Board of Commissioners customary procedures. Delivery shall be made upon receipt of a Purchase Order issued by the Ocean County Department of Purchase, upon which delivery locations and needed quantities shall be indicated.
- 3. Funds for the materials shall be available within the following Funding Sources: Bridges, Building and Grounds, Corrections, Engineering, Fire/First Aid Training Center, Juvenile Services, Parks Department and Roads Department O.E.
- 4. The contract number must be placed on all papers, documents, invoices and vouchers pertaining to said contract, the number being B2025-61.

BE IT FURTHER RESOLVED that certified copies of this Resolution shall be made available to the County Auditor, County Director of Purchase, Department of Finance, Bridges, Building and Grounds, Corrections, Engineering, Fire/First Aid Training Center, Juvenile Services, Parks Department, Roads Department and the successful bidders.

Introduced on: May 21, 2025 Adopted on: May 21, 2025 Official Resolution#: 2025000655

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
38	T-Shirt, Long Sleeve, Jersey, Jerzees Dri- Power 29LSR, As Specified, or Equal		EA	No Bid	No Bid	X				
39	T-Shirt, Long Sleeve, Jerzees 100% Cotton, As Specified, or Equal		EA	No Bid	No Bid	х				
40	T-Shirt, Crew Neck, 100% Cotton, Men's, As Specified, or Equal	450	EA	\$3.58	\$1,611.00		Bob Barker	673-SIZE	7-11 days	sold by the dozen per size
41	T-Shirt, Short Sleeve, Force High-Visibility, Carhartt Style 100495, As Specified, or Equal		EA	No Bid	No Bid	х				
42	T-Shirt, Short Sleeve, Hanes 5170, Heavyweight, As Specified, or Equal		EA	No Bid	No Bid	x				
43	T-Shirt, Short Sleeve, Jerzees 100% Cotton, As Specified, or Equal		EA	No Bid	No Bid	х				

Introdu<del>ced on: May 21, 2025</del>
Adopte (BGA) BARKERMA) MIP, **2025** INC.] RESPONSE DOCUMENT REPORT
Official **Bresolwigh**: C2025A005FDR VARIOUS DEPARTMENTS

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
V	50	Work Coat, Bob Barker 652, Blanket Lined, Brass Buttons, As Specified, or Equal	15	EA	\$23.12	\$346.80	No did	Bob Barker	652-OR-SIZE	7-11 days	COMMENTS
	PANTS								*		
	51	Jeans, Men's, Dickies, As Specified, or Equal		PR	No Bid	No Bid	х				
	52	Pants, Carpenter, Men's, Dickies 1939, As Specified, As Specified, or Equal		PR	No Bid	No Bìd	X				
	53	Pants, Pro with Mimix, Red Kap PX62, Men's, As Specified, or Equal		EA	No Bid	No Bid	х				
	54	Pants, Scrub, Dickies, As Specified, or Equal	7,10	PR	No Bid	No Bid	Х				
	55	Pants, Work, Men's Carhartt Style B136, As Specified, or Equal	٠	PR .	No Bid	4 No Bid	х				

Introduced.on: May 21, 2025
Adopted[@OB BARKENIACON|RABD, INC.] RESPONSE DOCUMENT REPORT
Official Resolution & 20259 RESS OR VARIOUS DEPARTMENTS
Page 15

Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
Vest, Class III Mesh Traffic Safety, Bob Barker Item 8018B, NO METAL PARTS, Velcro Closure, As Specified, or Equal,		EA .	No Bid	No Bid	х				
Vest, Surveyor, Class III, Solid/Mesh, Two-Toned 8- pocket, ANSI, As Specified, or Equal		EA	No Bid	No Bid	х				
5							•		
Pants, for 2- Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or Equal	500	PR	\$8.45	\$4,225.00		Bob Barker	T(COLOR)T-SIZE	10-12 days	
Shirt, for 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or Equal	600	EA	\$6.86	\$4,116.00		Bob Barker	T(COLOR)S-SIZE	10-12 days	
	Vest, Class III Mesh Traffic Safety, Bob Barker Item 8018B, NO METAL PARTS, Velcro Closure, As Specified, or Equal, Vest, Surveyor, Class III, Solid/Mesh, Two-Toned 8- pocket, ANSI, As Specified, or Equal  Pants, for 2- Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or Equal  Shirt, for 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or Equal	Vest, Class III Mesh Traffic Safety, Bob Barker Item 8018B, NO METAL PARTS, Velcro Closure, As Specified, or Equal, Vest, Surveyor, Class III, Solid/Mesh, Two-Toned 8- pocket, ANSI, As Specified, or Equal  Pants, for 2- Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or Equal  Shirt, for 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or	Vest, Class III Mesh Traffic Safety, Bob Barker Item 8018B, NO METAL PARTS, Velcro Closure, As Specified, or Equal,  Vest, Surveyor, Class III, Solid/Mesh, Two-Toned 8- pocket, ANSI, As Specified, or Equal  Pants, for 2- Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or Equal  Shirt, for 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or Equal	Vest, Class III Mesh Traffic Safety, Bob Barker Item 8018B, NO METAL PARTS, Velcro Closure, As Specified, or Equal,  Vest, Surveyor, Class III, Solid/Mesh, Two-Toned 8- pocket, ANSI, As Specified, or Equal  Pants, for 2- Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or Equal  Shirt, for 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or	Vest, Class III   Mesh Traffic   Safety, Bob   Barker Item   B018B, NO   METAL PARTS, Velcro Closure, As Specified, or Equal,   Vest, Surveyor, Class III, Solid/Mesh, Two-Toned 8-pocket, ANSI, As Specified, or Equal   Shirt, for 2-Piece Inmate Suit, Charm-Tex, with Screen   Print, As Specified, or Equal   Shirt, for 2-Piece Inmate Suit, Charm-Tex, with Screen   Print, As Specified, or Equal   Shirt, for 2-Piece Inmate Suit, Charm-Tex, with Screen   Print, As Specified, or Equal   Shirt, for 2-Piece Inmate Suit, Charm-Tex, with Screen   Print, As Specified, or Equal   Shirt, for 2-Piece Inmate Suit, Charm-Tex, with Screen   Print, As Specified, or Equal   Shirt, for 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or   Shirt, For 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or   Shirt, For 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or   Shirt, For 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or   Shirt, For 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or   Shirt, For 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or   Shirt, For 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or   Shirt, For 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or   Shirt, For 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or   Shirt, For 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or   Shirt, For 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or   Shirt, For 2-Piece Inmate Suit, Charm-Tex, With Screen Print, As Specified, or   Shirt, For 2-Piece Inmate Suit, Charm-Tex, With Screen Print, As Specified, or   Shirt, For 2-Piece Inmate Suit, Charm-Tex, With Screen Print, As Specified, or   Shirt, For 2-Piece Inmate Suit, Charm-Tex, With Screen Print, As Specified, or   Shirt, For 2-Piece Inmate Suit, Charm-Tex, With Screen Print, As Specified, Or   Shirt, For 2-Piece Inmate Suit, Charm-Tex, With Screen Print, As Specified, Or   Shir	Vest, Class III   Mesh Traffic   Safety, Bob   Barker Item   Bollaß, NO   METAL PARTS, Velcro Closure, As Specified, or Equal,   Vest, Surveyor, Class III, Solid/Mesh, Two-Toned 8-pocket, ANSI, As Specified, or Equal   Shirt, for 2-Piece Inmate Suit, Charm-Tex, with Screen   Print, As Specified, or Equal   Shirt, for 2-Piece Inmate Suit, Charm-Tex, with Screen   Color   Color	Vest, Class III   Mesh Traffic   Safety, Bob   Barker Item   BOIBB, NO   METAL PARTS, Velcro Closure, As Specified, or Equal,   Vest, Surveyor, Class III, Solid/Mesh, Two-Toned 8-pocket, ANSI, As Specified, or Equal   Specified, or Equal	Vest, Class III   Mesh Traffic   Safety, Bob   Barker Item   BOJBB, NO   METAL PARTS, Velero Closure, As Specified, or   Equal,   Vest, Surveyor, Class III, Solid/Mesh, Two-Toned 8-pocket, ANSI, As Specified, or   Equal   Shirt, for 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or   Equal   Shirt, for 2-Piece   GOO   EA   S6.86   S4,116.00   Bob Barker   T(COLOR)S-SIZE   T(	Vest, Class III Mesh Traffic Safety, Bob Barker Item 80188, NO METAL PARTS, Velcro Closure, As Specified, or Equal,  Vest, Surveyor, Class III, Solid/Mesh, Two-Toned 8- pocket, ANSI, As Specified, or Equal  Pants, for 2- Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or Equal  Shirt, for 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or Equal

Introdu<del>ced on: May 21, 2025</del> Adopte(ዘርብ용 BARKERMA) **ኒሳዮ ልዕ**ይቴ INC.] RESPONSE DOCUMENT REPORT Official ந<sub>ቸው</sub> o ነላኒው በት የተመሰቀው የ

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
75	Bra, Bob Barker 100% Nylon Traditional- Style, As Specified, or Equal	75	EA ·	\$1.83	\$137.25		Bob Barker	EBANY(BandCup)	3-5 days	sold by the dozen per size.
76	Briefs, Men's, Fruit of the Loom 7601, Men's, As Specified, or Equal	50	DOZ	\$14.50	\$725.00		Bob Barker	EBRLS-SIZE	3-5 days	
77	Crew Socks, Bob Barker WC, As Specified, or Equal, 12 Pair/Case	50	CASE	\$6.80	\$340.00		Bob Barker	ос	3-5 days	
78	Panties, Bob Barker Women's Brief-Style, As Specified, or Equal	10	DOZ	\$10.11	\$101.10		Bob Barker	ELBLCTN-SIZE	3-5 days	
79	Thermal Underwear, Bottom, As Specified, or Equal, MUST BE ORANGE	75	PR	\$3.13	\$234.75		Bob Barker	112OR-SIZE	3-5 days	sold by the dozen per size.
80	Thermal Underwear, Top, As Specified, or Equal, MUST BE ORANGE	75	PR	\$3.46	\$259.50		Bob Barker	63OR-SIZE	3-5 days	sold by the dozen per size.

Introduced on: May 21, 2025
Adopted BOB BARKEMGOMPROMF, INC.] RESPONSE DOCUMENT REPORT
Official Regol WORK 2025-01255FOR VARIOUS DEPARTMENTS

Eine Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
87	Boots, Twin Gore, Bob Barker TG PD, As Specified, or Equal	75	PR	\$19.56	\$1,467.00		Bob Barker	TGPD-SIZE	3-5 days	
88	Boots, Work, Muck Boot Co., Chore Hi Boot, As Specified, or Equal		PR .	No Bid	No Bid	х				
89	Sneakers, Step- in, Bob Barker Economy Canvas, Unisex, As Specified, or Equal	60	PR	\$5.23	\$313.80		Bob Barker	155(COLOR)-SIZE	3-5 days	Colors: Black, Navy, Orange, White
90	Sneakers, Velcro Closure High Top, Bob Barker, As Specified, or Equal	60	PR	\$9.07	\$544.20		Bob Barker	FCNGB23-BK- SIZE	3-5 days	
91	Waders, Amphib Cleated Bootfoot, Chest, FroggToggs 2713243, Unisex, As Specified, or Equal		PR	No Bid	No Bid	х				

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
104	Gloves, Work, Mechanix Wear SMP-91, Hi-Viz, As Specified, or Equal		PR	No Bid	No Bid	х				
105	Gloves, Work, Stretch Back, MCR Safety Cut Pro Style 917, As Specified or Equal		PR	No Bid	No Bid	х				
HATS, CAPS AND	ACCESSORIES					•				
106	Belt, #1205 - Hero's Pride Ballistic Nylon Deluxe Inner Duty, As Specified, or Equal		EA	No Bid	No Bid	х				
107	Brow Pad, Bullard RBPCOTTON, As Specified, or Equal		EA	No Bid	No Bid	X				
108	Camouflage Hat, Dri Duck Mallard 3254, As Specified, or Equal		EA	No Bid	No Bid	X				
109	Cap, Mesh Baseball, As Specified, or Equal	10	EA	\$3.75	\$37.50		Nissin Caps	Z39165-OR	11-18 days	sold only by the dozen.

Introduced on: May 21, 2025.
Adopted BOB BARKER 2007 2025, INC.] RESPONSE DOCUMENT REPORT Official BESONWICK 2035 PRESSOR VARIOUS DEPARTMENTS
Page 25

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
1	110	Cap, Watch, As Specified, or Equal	50	EA	\$1.40	\$70.00		Bob Barker	101K-OR	3-5 days	sold only by the dozen.
	111	Hard Hat, OccuNomix Vulcan V200, NO SUBSTITUTIONS		EA	No Bid	No Bid	х		٠.		
	112	Hard Hat Liner, OccuNomix XX301, As Specified, or Equal		EA	No Bid	No Bid	X				
	113	Hat, Beanie, Carhartt Item A18, As Specified, or Equal	4)	EA	No Bid	No Bid	х			,	
	114	Hat, Visor, HitWear 1035, As Specified, or Equal		EA	No Bid	No Bid	Х				

# SECTION II - DISCOUNT PERCENTAGE FOR ITEMS NOT SPECIFIED HEREIN

,	Line Item	Description	Unit of Measure	Percentage	No Bid	Comments
	115	Discount Percentage (%) for Work Clothes Not Specified Herein (NOT LESS THAN), As Specified	%	15%		

Introduc<del>ed on: May 21, 2025</del>
Adopted[80B BARKENI60201Pabby, INC.] RESPONSE DOCUMENT REPORT
Official Resolutions & 22590265FOR VARIOUS DEPARTMENTS

									5	
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
32	Sweatshirt, Hooded, As Specified, or Equal	75	EA	\$23.50	\$1,762.50		Gildan	18500		
33	Sweatshirt, Hooded Pull- Over, Jerzees 996MR, As Specified, or Equal	10	EA	\$16.50	\$165.00		Jerzees	996MR		4
34	Sweatshirt, Hooded, Zipper Front, Midweight, Carhartt K122, As Specified, or Equal	50	EA	\$48.00	\$2,400.00		Carhartt	K122		
35	Sweatshirt, Jerzees 4999, Unisex, As Specified, or Equal	15	EA	\$30.00	\$450.00		Jerzees	4999		
36	Sweatshirt, Zip Up, Carhartt 100632, As Specified or Equal	175	EA	\$72.00	\$12,600.00		Carhartt	104078		2
37	T-Shirt, Long Sleeve, Class 3, Force High Visibility, Carhartt 100496 , As Specified, or Equal	50	EA	\$54.99	\$2,749.50		Carhartt	100496		

Introduced on: May 21, 2025
Adopted PEPENDAB MAY 21, 2025
Official Resolution# 702500655
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

[DEPENDABLE SOURCING PARTNERS] RESPONSE DOCUMENT REPORT Bid No. TBD WORK CLOTHES FOR VARIOUS DEPARTMENTS

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
	44	Tank Top, Lifeguard, Gildan 2200, As Specified, or Equal	50	EA	\$6.50	\$325.00		Gildan	2200		
~	45	Top, Zip Up Training, CN9492, As Specified, As Specified, or Equal	5	EA	\$45.00	\$225.00		Nike	CN9492		
	46	Top, Scrub, with Front Pockets, Uniform Advantage UA71C, As Specified, or Equal		EA	No Bid	No Bid	х				,
	47	Top, Smock, WearGuard DEF-631, As Specified or Equal		EA	No Bid	No Bid	х				
L	48	Windbreaker, Full Zip Force, Men's, A4 #N4264, As Specified, or Equal	5	EA	\$28.00	\$140.00		SportTek	JST70		
	49	Windshirt, UltraClub 8936, Men's, As Specified, or Equal	100	EA	\$24.99	\$2,499.00		SportTek	JST72		

Introduced on: May 21, 2025
Adopted Phipe DAD MAY 21, 2025
Official Resolution#: 2025000655
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
61	Rainwear, 3- Piece, Protective Industrial Products Rainsuit 4035, As Specified, or Equal		EA	No Bid	No Bid	х				
62	Rainwear, Class III, Jacket Suit, Comfort-Brite, As Specified, or Equal		EA	No Bid	No Bid	X	`			
63	Rainwear, Class III, SP Workwear Premium Breathable Rain Jacket, As Specified, or Equal		EA	No Bid	No Bid	х	,			,
64	Rainwear, Class E, Bib Pants, SP Workwear, As Specified, or Equal		PR	No Bid	No Bid	х				×
SAFETY CLOTHII	NG		9 8							
65	Belt, Safety Back, Northern Safety Model 23923, As Specified or Equal	10	CASE	\$19.99	\$199.90		NSI .	23923		

Introduced on: May 21, 2025
Adopted Arichard Production 2025 Adopt

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
104	Gloves, Work, Mechanix Wear SMP-91, Hi-Viz, As Specified, or Equal		PR	No Bid	No Bid	X				
105	Gloves, Work, Stretch Back, MCR Safety Cut Pro Style 917, As Specified or Equal		PR	No Bid	No Bid	х				
HATS, CAPS AND	ACCESSORIES		'					•		
106	Belt, #1205 - Hero's Pride Ballistic Nylon Deluxe Inner Duty, As Specified, or Equal	15	EA	\$28.00	\$420.00		Hero's Pride	1205		
107	Brow Pad, Bullard RBPCOTTON, As Specified, or Equal	15	EA	\$10.50	\$157.50		RBPCOTTON			
108	Camouflage Hat, Dri Duck Mallard 3254, As Specified, or Equal	300	EA	\$12.75	\$3,825.00		DRI DUCK	3254		
109	Cap, Mesh Baseball, As Specified, or Equal	10	EA	\$12.50	\$125.00		Richardson	585		

Introduced on: May 21, 2025
Adopted Opi ENDABL May 21, 2026
Official Resolution#: 2025000655
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

[DEPENDABLE SOURCING PARTNERS] RESPONSE DOCUMENT REPORT Bid No. TBD

WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
 110	Cap, Watch, As Specified, or Equal		EA .	No Bid	No Bid	X				
111	Hard Hat, OccuNomix Vulcan V200, NO SUBSTITUTIONS	200	EA	\$18.79	\$3,758.00	٠	Occunomix	V200		
112	Hard Hat Liner, OccuNomix XX301, As Specified, or Equal		EA	No Bid	No Bid	X				
113	Hat, Beanie, Carhartt Item A18, As Specified, or Equal	275	EA	\$23.99	\$6,597.25	s	Carhartt	A18		
114	Hat, Visor, HitWear 1035, As Specified, or Equal	250	EA	\$9.49	\$2,372.50	,	HitWear	1035		

# SECTION II - DISCOUNT PERCENTAGE FOR ITEMS NOT SPECIFIED HEREIN

Line Item	Description	Unit of Measure	Percentage	No Bid	Comments
115	Discount Percentage (%) for Work Clothes Not Specified Herein (NOT LESS THAN), As Specified	%	10%		a a

May 21, 2025

Adopted On: May 21, 2025

Official Resolution: 202500665

Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

# SECTION I - GENERAL APPAREL

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
OPS (JACKETS,	SHIRTS, SWEATSHIRT	S) 🖟 🔭 📜				3.00				
1	Golf Shirt, Short Sleeve (NO POCKET), Gildan 82800, As Specified or Equal	70	EA	\$12.80	\$896.00		GILDAN	82800	7-10 Bus Days	
2	Golf Shirt, Short Sleeve, Jerzees J300, (No Pocket), As Specified, or Equal	210	EA	\$8.05	\$1,690.50		JERZEES	1300	7-10 Bus Days	
3	Golf Shirt, Short Sleeve, UltraClub Style 8210, Men's, As Specified, or Equal	150	EA	\$12.99	\$1,948.50		UC	8210	7-10 Bus Days	-
4	Golf Shirt, Short Sleeve, UltraClub Style 8534, (With Pocket), As Specified, or Equal	150	EA	\$14.25	\$2,137.50		CORE365	88181P	7-10 Bus Days	,
5	Jacket, Carhartt J140, Style 106673 As Specified, or Equal		EA	No Bid	No Bid	X-			9	

Introduced on: May 21, 2025
Adopted on: May 21, 2025
Official Resolution: 202500655
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
6	Jacket, Carhartt, Thermal Lined J131, As Specified, or Equal		EA	No Bid	No Bid	х				
7	Jacket, Full Zip Microfleece, Eddie Bauer EB224, As Specified, or Equal	10	EA	\$26.90	\$269.00		Eddie Bauer		7-10 Bus Days	
8	Jacket, Hooded, Grundens Shoreman 300, As Specified, or Equal		EA	No Bid	No Bid	х				
9	Jacket, Hooded, Heavyweight, Charles River Style 9921, As Specified, or Equal		EA	No Bid	No Bid	X .		- , .		
10	Jacket, SanMar Port Authority Team Jacket JP56, Unisex, As Specified, or Equal	20	EA	\$34.00	\$680.00		Port	JPS6	7-10 Bus Days	
11	Jacket, UltraClub Collection Pack Away Jacket 8925, As Specified, or Equal	30	EA	\$22.00	\$660.00		Ultra Club	8925	7-10 Bus Days	

Introduc<del>ed on: May 21, 2025</del>
Adopted OA: DESIGN MAY 21, 2025
Adopted OA: DESIGN MAY 21, 2025
Official Resolutions: 202500655
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

						T			g. 1		
~	Line Item 12	Polo Shirt, Cotton, Devon & Jones D100, Men's, As Specified, or Equal	Quantity 100	Unit of Measure EA	\$24.85	Total Cost \$2,485.00	No Bid	Manufacturer Devon Jones	Style D100	Delivery, A.R.O. 7-10 Bus Days	Comments
L	13	Polo Shirt, Port Authority 2510, Ladies, (MUST BE PIQUE), As Specified, or Equal	60	EA	\$12.20	\$732.00		Port	L500	7-10 Bus Days	
V	14	Polo Shirt, Long Sleeve Classic Pique, UltraClub 8542, Men's, As Specified, or Equal	125	EA	\$17.90	\$2,237.50		uc	8542	7-10 Bus Days	
V	15	Polo Shirt, Long Sleeve Silk Touch, Ladies, Port Authority L500LS, As Specified, or Equal	25	, EA	\$17. <i>7</i> 5	\$443.75		Port	L500LS	7-10 Bus Days	
ν	16	Polo Shirt, Shoulder Piping, Sport-Tek Micropique, Item ST653, As Specified, or Equal	5 	EA	\$16.65	\$83.25		SPORTEK	ST653	7-10 Bus Days	

Introduced on: May 21, 2025
Adopted OR: AWY 21, 2025
Official Resolution: 202560655
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS
Page 8

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
17	Polo Shirt, Sport-Tek Sport Wick Polo, Contrast Stitch, Item ST659, As Specified, or Equal	5	EA	\$16.65	\$83.25		SPORTEK .	ST659	7-10 Bus Days	
18	Polo Shirt, Short Sleeve, Gildan 8800, Adult Ultra Blend, As Specified, or Equal	30	EA	\$7.89	\$236.70		GILDAN	8800	7-10 Bus Days	
19	Pullover, 1/4 Zip, Sport-Tek Sport Wick Textured, Item LST860, As Specified, or Equal,	5	EA	\$20.20	\$101.00		SPORTEK	LST860	7-10 Bus Days	
20	Shirt, Short Sleeve, Dickies, Equestrian Twill, (COLORS MUST MATCH TROUSERS IN ITEM 58), As Specified, or Equal		EA	No Bid	No Bid	X				
. 21	Shirt, Short Sleeve, Edwards 1212, Men's, As Specified, or Equal		EA	No Bid	No Bid	х				

Introduced on: May 21, 2025
Adopted On: PSIGN MAY 21, 2025
Official Resolutions: 2025000855
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
. 22	Shirt, Short Sleeve Work, with Mimix, Red Kap Style SX20, Men's, As Specified, or Equal		EA ·	No Bid	No Bid	x				
23	Shirt, Long Sleeve, Edwards 1262, Men's, As Specified, or Equal		EA	No Bid	No 8id	Х				
24	Shirt, Long Sleeve, Twill, (COLORS MUST MATCH TROUSERS IN ITEM 58), As Specified, or Equal		EA	No Bid	No Bid					
25	Shirt, Long Sleeve Work, with Mimix, Red Kap Style SX10, Men's, As Specified, or Equal	*	EA	No Bid	No Bid	X				
26	Sweater, Quarter Zip, Jersey Knit, Edwards 712, As Specified, or Equal		EA	No Bid	No Bid	х			-	

Introduced on: May 21, 2025
Adopted On: DESIGNAY 21, 2025
Official Resolutions: 202500555
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
<b>✓</b>	27	Sweatshirt, Cadet Collar, Jerzees 995M, As Specified, or Equal	125	EA	\$14.95	\$1,868.75	,	PORT	PC78Q	7-10 Bus Days	
l	28	Sweatshirt, Crew Neck, Men's, Jerzees 562M, As Specified, or Equal	175	EA	\$10.90	\$1,907.50		JERZEES	562M	7-10 Bus Days	
V	29	Sweatshirt, Hooded, Fleece, District Perfect Weight DT1101, As Specified, or Equal	15	EA	\$16.95	\$254.25		DISTRICT	DT1101	7-10 Bus Days	
	30	Sweatshirt, Hooded, Heavyweight, Rain Defender Paxton Carhartt 100615, As Specified, or Equal		EA	No Bid	No Bid	х				
	31	Sweatshirt, Hooded, Mid Weight Loose Fit, Class 3, High Visibility , Carhartt Style 104987, As Specified, or Equal		EA	No Bid	No Bid	x				

Introduced on: May 21, 2025
Adopted OR: DESIGN NAY 22, 2025
Official Resolution#: 2025000555
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
32	Sweatshirt, Hooded, As Specified, or Equal	75	EA	\$14.00	\$1,050.00		Jerzees	995m	7-10 Bus Days	
33	Sweatshirt, Hooded Pull- Over, Jerzees 996MR, As Specified, or Equal	10	EA	\$14.00	\$140.00		Jerzees	995m	7-10 Bus Days	
34	Sweatshirt, Hooded, Zipper Front, Midweight, Carhartt K122, As Specified, or Equal	v	EA	No Bid	No Bid	x				
35	Sweatshirt, Jerzees 4999, Unisex, As Specified, or Equal	15	EA	\$19.40	\$291.00		Port	PC78ZH	7-10 Bus Days	
36	Sweatshirt, Zip Up, Carhartt 100632, As Specified or Equal	175	EA .	\$60.00	\$10,500.00		Carhartt	100632	7-10 Bus Days	F
37	T-Shirt, Long Sleeve, Class 3, Force High Visibility, Carhartt 100496 , As Specified, or Equal		EA	No Bid	No Bid	Х				

Introduced on: May 21, 2025
Adopted On: DESIGN MAY 21, 2025
Official Resolutions: 2025000655
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

					100					
Line	Item Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
3	T-Shirt, Long Sleeve, Jersey, Jerzees Dri- Power 29LSR, Specified, or Equal	1	EA	\$9.50	\$1,235.00		Jerzees	29ls	7-10 Bus Days	
3	T-Shirt, Long Sleeve, Jerzee 100% Cotton, Specified, or Equal		EA	\$6.60	\$1,023.00		Jerzees	29ls	7-10 Bus Days	
4	T-Shirt, Crew Neck, 100% Cotton, Men's As Specified, c		EÁ	\$3.90	\$1,755.00		Gildan	5000	7-10 Bus Days	
4	T-Shirt, Short Sleeve, Force High-Visibility, Carhartt Style 100495, As Specified, or Equal		EA	No Bid	No Bid	x				· ·
	T-Shirt, Short Sleeve, Hanes 5170, Heavyweight, Specified, or Equal		EA	\$3.90	\$5,460.00		HANES	5170	7-10 Bus Days	
	T-Shirt, Short Sleeve, Jerzee 100% Cotton, Specified, or Equal		EA	\$3.90	\$1,092.00		Gildan	5000	7-10 Bus Days	

Introduced on: May 21, 2025
Adopted on: May 21, 2025
Official Resolution#: 025000688 ONSE DOCUMENT REPORT
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS
Page 13

								51.1	0.1:	6
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
44	Tank Top, Lifeguard, Gildan 2200, As Specified, or Equal	50	EA	\$5.90	\$295.00		Gildan	2200	7-10 Bus Days	
45	Top, Zip Up Training, CN9492, As Specified, As Specified, or Equal		EA	No Bid	No Bid	X				
. 46	Top, Scrub, with Front Pockets, Uniform Advantage UA71C, As Specified, or Equal		EA	No Bid	No Bid	x				
47	Top, Smock, WearGuard DEF-631, As Specified or Equal		EA	No Bid	No Bid	X	-			
48	Windbreaker, Full Zip Force, Men's, A4 #N4264, As Specified, or Equal	5	EA.	\$42.00	\$210.00		A4	N4264	7-10 Bus Days	
49	Windshirt, UltraClub 8936, Men's, As Specified, or Equal	100	EA	\$19.00	\$1,900.00		UC .	8936	7-10 Bus Days	

Introduced on: May 21, 2025
Adopted GR: DESIGN MAY 21, 2025
Official Resolutions: 202500655
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

[DOT DESIGNING] RESPONSE DOCUMENT REPORT Bid No. TBD WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
50	Work Coat, Bob Barker 652, Blanket Lined, Brass Buttons, As Specified, or Equal		EA	No Bid	No Bid	<b>X</b>		a		
PANTS							<sup>6</sup> w			
51	Jeans, Men's, Dickies, As Specified, or Equal		PR	No Bid	No Bid	X				
52	Pants, Carpenter, Men's, Dickies 1939, As Specified, As Specified, or Equal		PR	No Bid	No Bid	X	-		-	
53	Pants, Pro with Mimix, Red Kap PX62, Men's, As Specified, or Equal		EA	No Bid	No Bid	X				
54	Pants, Scrub, Dickies, As Specified, or Equal		PR	No Bid	No Bid	х				
55	Pants, Work, Men's Carhartt Style B136, As Specified, or Equal		PR	No Bid	No Bid	х				

Introduced on: May 21, 2025
Adopted Opi; PSIGN NAY 21, 2025
Official Resolutions: 202500655
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS
Page 15

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
<b>/</b> 56	Sweatpants, Jerzees 973, As Specified, or Equal	25	EA	\$11.05	\$276.25 <sup>-</sup>		Jerzees	973	7-10 Bus Days	
57	Trousers, RedKap Industries PT20NV, Men's, As Specified, or Equal		PR	No Bid	No Bid	х				
58	Trousers, Twill, Dickies, (COLORS MUST MATCH SHIRTS IN ITEM 20 AND/OR ITEM 24), As Specified, or Equal		EA	No Bid	No Bid	х				
NWEAR			-1		,					
59 	Coat, Rain Defender, Relaxed Fit Lightweight, Women's, Carhartt Item 104221, As Specified, or Equal		EA	No Bid	No Bid	х				
60 on: • N	Rainsuit, 2- Piece, Frogg Toggs Ultra- Lite2, UL12104- 08, As Specified, or Equal		EA	No Bid	No Bid	х				

Introduced on: May 21, 2025

Adopted On: DESIGN 18 27, 2025

Official Resolution#: 2025000655

ONSE DOCUMENT REPORT
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS
Page 16

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
61	Rainwear, 3- Piece, Protective Industrial Products Rainsult 4035, As Specified, or Equal		EA	No Bid	No Bid	X				
62	Rainwear, Class III, Jacket Suit, Comfort-Brite, As Specified, or Equal		EA	No Bid	No Bid	Х				
63	Rainwear, Class III, SP Workwear Premium Breathable Rain Jacket, As Specified, or Equal		EA	No Bid	No Bid	, X				
. 64	Rainwear, Class E, Bib Pants, SP Workwear, As Specified, or Equal	-	PR .	No Bid	No Bid	X				-
SAFETY CLOTHII	NG						. "			
65	Belt, Safety Back, Northern Safety Model 23923, As Specified or Equal		CASE	No Bid	No Bid	х				

Introduced on: May 21, 2025
Adopted On: PESIGN MAY 21, 2025
Official Resolutions: 202500085
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

[DOT DESIGNING] RESPONSE DOCUMENT REPORT Bid No. TBD WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
66	Cooling Towel, OccuNomix 931- BL, Miracool PVA, As Specified or Equal		EA	No Bid	No Bid	x				
67	Jacket, Class III Waterproof, Carhartt 100499, As Specified, or Equal		EA	No Bid	No Bid	Χ .				
68	T-Shirt, Class III, Short Sleeve, Hi- Vis with Max- Dri, As Specified, or Equal		EA	No Bid	No Bid	X				
69	Vest, Breakaway Hi-Vis Safety, Polyester Mesh, Berkley Breakaway Vests, #S-16171, As Specified or Equal		EA	No Bid	No Bid	x				
70	Vest, Class III Mesh Traffic Safety, Northern Safety and Industrial 29786, As Specified or Equal		EA	No Bid	No Bid	х				

Introduced on: May 21, 2025
Adopted on: Way 21, 2025
Official Resolution: 2025 ONSE DOCUMENT REPORT
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comment
71	Vest, Class III Mesh Traffic Safety, Bob Barker Item 8018B, NO METAL PARTS, Velcro Closure, As Specified, or Equal,		EA	No Bid	No Bid	x				
72	Vest, Surveyor, Class III, Solid/Mesh, Two-Toned 8- pocket, ANSI, As Specified, or Equal		EA	No Bid	No Bid	X,			-	
IAL CLOTHIN	G							-		
73	Pants, for 2- Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or Equal		PR	No Bid	No Bid	Х				
74	Shirt, for 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or Equal		EA	No Bid	No Bid	х				

Introduced on: May 21, 2025
Adopted on: Ad

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
75	Bra, Bob Barker 100% Nylon Traditional- Style, As Specified, or Equal		EA	No Bid	No Bid	x		٠		
76	Briefs, Men's, Fruit of the Loom 7601, Men's, As Specified, or Equal		DOZ	No Bid	No Bid	х				
77	Crew Socks, Bob Barker WC, As Specified, or Equal, 12 Pair/Case		CASE	No Bid	No Bid	х				7
. 78	Panties, Bob Barker Women's Brief-Style, As Specified, or Equal		DOZ	No Bid	No Bid	x		٠		
79	Thermal Underwear, Bottom, As Specified, or Equal, MUST BE ORANGE		PR	No Bid	No Bid	х				
80	Thermal Underwear, Top, As Specified, or Equal, MUST BE ORANGE		PR	No Bid	No Bid	X				

Introduced on: May 21, 2025
Adopted on: Way 21, 2025
Official Resolutions: 202560685 ONSE DOCUMENT REPORT
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS
Page 20

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
BOOTS, SNEAKE	RS, AND WADERS		a a partir a grant a agra- ar a partir a grant a agra- ar a partir a grant a							
. 81	Boots, Deck, XTRATUF AIMN100, Shearling Lining, As Specified, or Equal		PR	No Bid	No Bid	x -				
82	Boots, Deck, XTRATUF AIMR300, As Specified, or Equal		PR	No Bid	No Bid	х				
83	Boots, Hip, LaCrosse 152030, As Specified, or Equal	•	PR	No Bid	No Bid	X				
84	Boots, Hip, Insulated, LaCrosse 109050, As Specified, or Equal		PR	No Bid	No Bid	х				
85	Boots, Knee, Rubber, Rothco 5117, As Specified, or Equal		PR	No Bid	No Bid	х				
86	Boots, Slush, Wear-Guard, As Specified, or Equal		PR	No Bid	No Bid	х	,			

Introduced on: May 21, 2025
Adopted On: May 21, 2025
Official Resolutions: 202500555
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
87	Boots, Twin Gore, Bob Barker TG PD, As Specified, or Equal		PR	No Bid	No Bid	X				
88	Boots, Work, Muck Boot Co., Chore Hi Boot, As Specified, or Equal		PR	No Bid	No Bid	X				
89	Sneakers, Step- in, Bob Barker Economy Canvas, Unisex, As Specified, or Equal		PR	No Bid	No Bid	х				-
90	Sneakers, Velcro Closure High Top, Bob Barker, As Specified, or Equal		PR	No Bid	No Bid	х	-			÷
91	Waders, Amphib Cleated Bootfoot, Chest, FroggToggs 2713243, Unisex, As Specified, or Equal		PR	No Bid	No Bid	х		·		

Introduced on: May 21, 2025
Adopted On: DESIGN MAY 21, 2025
Official Resolutions: 2025000555
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
92	Waders, Chest, Cabela's White River Fly Shop Three Forks, Unisex, As Specified, or Equal		PR	No Bid	No Bid	x				
93	Waders, Chest, Pro Line 3112, As Specified, or Equal		PR	No Bid	No Bid	х				
94	Waders, Hip, Pro Line, As Specified, or Equal		PR	No Bid	No Bid	х				
LOVES										
95 📜 🥈	Gloves, Driver's, Northern Safety & Industrial 2580, Premium Goatskin Leather, As Specified, or Equal		PR	No Bid	No Bid	х.				
96	Gloves, Insulated, Grip Palm, Carhartt, Style A511, As Specified, or Equal		DOZ	No Bid	No Bid	× .				
97 -	Gloves, Jersey, Broner 11-3, As Specified or Equal		PR	No Bid	No Bid	×				a a a a a a a a a a a a a a a a a a a

Introduced on: May 21, 2025
Adopted OR: DESIGN MAY 21, 2025
Official Resolution: 202500655
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
98	Gloves, Jersey Lined, Galeton, As Specified, or Equal		DOZ	No Bid	No Bid	Х -				
99	Gloves, Mechanix Wear MPT-52-009 M- Pact, Open Cuff, As Specified, or Equal		PR	No Bid	No Bid	X				
100	Gloves, Touch Screen Capable, Carhartt, Style GN0780M, As Specified, or Equal		DOZ	No Bid	No Bid	X				
. 101	Gloves, Work, Canvas Back, Renegade 2200, As Specified, or Equal		PR	No Bid	No Bid	х		,		
102	Gloves, Work, Knit Summer, Atlas ASUMG, As Specified or Equal	-	PR	No Bid	No Bid	х				
103	Gloves, Work, Leather Palm, Split Side, NS Hand Protection 3120, As Specified, or Equal		· PR	No Bid -	No Bid	х				

Introduced on: May 21, 2025
Adopted OR: PSIC NEW 21, 2025
Official Resolution: 202500655
Official Resolution: 202500655
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS
Page 24

i.	ne Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
	104	Gloves, Work, Mechanix Wear SMP-91, Hi-Viz, As Specified, or Equal		PR·	No Bid	No Bid	X				
	105	Gloves, Work, Stretch Back, MCR Safety Cut Pro Style 917, As Specified or Equal		PR	No Bid	No Bid	X				
HATS	ATS, CAPS AND ACCESSORIES										2
	106	Belt, #1205 - Hero's Pride Ballistic Nylon Deluxe Inner Duty, As Specified, or Equal		EA	No Bid	No Bid	<b>X</b>				
	107	Brow Pad, Bullard RBPCOTTON, As Specified, or Equal		EA	No Bid	No Bid	x				
/	108	Camouflage Hat, Dri Duck Mallard 3254, As Specified, or Equal	300	EA	\$8.00	\$2,400.00		Dri-Duck	3254	7-10 Bus Days	
	109	Cap, Mesh Baseball, As Specified, or Equal	10	EA	\$6.80	\$68.00		PORT	CP80	7-10 Bus Days	

Introduced on: May 21, 2025
Adopted OR: Ad

[DOT DESIGNING] RESPONSE DOCUMENT REPORT Bid No. TBD WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
110	Cap, Watch, As Specified, or Equal	50	EA	\$4.99	\$249.50		PORT	CP90	7-10 Bus Days	
111	Hard Hat, OccuNomix Vulcan V200, NO SUBSTITUTIONS		EA	No Bid	No Bid ·	х				
112	Hard Hat Liner, OccuNomix XX301, As Specified, or Equal		EA	No Bid	No Bid	х				
113	Hat, Beanie, Carhartt Item A18, As Specified, or Equal		EA	No Bid	No Bid	x .				
114	Hat, Visor, HitWear 1035, As Specified, or Equal	250	EA	\$6.18	\$1,545.00		PORT	CP45	7-10 Bus Days	

#### SECTION II - DISCOUNT PERCENTAGE FOR ITEMS NOT SPECIFIED HEREIN

	Line Item	Description	Unit of Measure	Percentage	No Bid	Comments
7	115	Discount Percentage (%) for Work Clothes Not Specified Herein (NOT LESS THAN), As Specified	%	15%		

Introduced on:

May 21, 2025

Adopted on: 13.71.2025 Official Resolution: 202500635 ONSE DOCUMENT REPORT Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
PS (JACKETS,	SHIRTS, SWEATSHIRT	<b>S)</b>	grandi karati da sanari da san Garati da sanari da s				4.5			
1	Golf Shirt, Short Sleeve (NO POCKET), Gildan 82800, As Specified or Equal	70	EA	\$13.95	\$976.50		GILDAN	85800		
2	Golf Shirt, Short Sleeve, Jerzees J300, (No Pocket), As Specified, or Equal	210	EA	\$10.95	\$2,299.50		GILDAN	8800		EMBROIDERED ITEMS \$16.95
3	Golf Shirt, Short Sleeve, UltraClub Style 8210, Men's, As Specified, or Equal	150	EA	\$16.95	\$2,542.50		PORT AUTHORITY	K110		
4	Golf Shirt, Short Sleeve, UltraClub Style 8534, (With Pocket), As Specified, or Equal	150	EA	\$19.45	\$2,917.50		PORT AUTHORITY	K500P		
5	Jacket, Carhartt J140, Style 106673 As Specified, or Equal	75	EA	\$69.95	\$5,246.25		CORNERSTONE	CSJ41		

Introduced on:

May 21, 2025

Adopted pp: 100 Adopted pp: 10

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
6	Jacket, Carhartt, Thermal Lined J131, As Specified, or Equal	10	EA	\$64.95	\$649.50		CORNERSTONE	J763H		
7	Jacket, Full Zip Microfleece, Eddie Bauer EB224, As Specified, or Equal	10	EA	\$37.99	\$379.90		EDDIE BAUER	EB224		
8	Jacket, Hooded, Grundens Shoreman 300, As Specified, or Equal	50	EA	\$89.95	\$4,497.50		GRUNDENS	300		
9	Jacket, Hooded, Heavyweight, Charles River Style 9921, As Specified, or Equal	10	EA	\$49.75	\$497.50		CHARLES RIVER	9921		
10	Jacket, SanMar Port Authority Team Jacket JP56, Unisex, As Specified, or Equal	20	EA	\$47.95	\$959.00		PORT AUTHORITY	JP56		
11	Jacket, UltraClub Collection Pack Away Jacket 8925, As Specified, or Equal	30	EA	\$19.95	\$598.50	٠	HARRITON	M750		

Introduce<del>d on: May 21, 2025 |
Adopted on: May 21, 2025 |
Adopted on: A 2025 |
Official Resolution#: A 2025000655 | RESPONSE DOCUMENT REPORT
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS
Page 7</del>

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
17	Polo Shirt, Sport-Tek Sport Wick Polo, Contrast Stitch, Item ST659, As Specified, or Equal	5	EA	\$21.95	\$109.75		SPORT-TEK	ST659	-	
18	Polo Shirt, Short Sleeve, Gildan 8800, Adult Ultra Blend, As Specified, or Equal	30	EA	\$11.95	\$358.50		GILDAN	8800	,	
19	Pullover, 1/4 Zip, Sport-Tek Sport Wick Textured, Item LST860, As Specified, or Equal,	5	EA	\$24.95	\$124.75		SPORT-TEK	LST680		
20	Shirt, Short Sleeve, Dickies, Equestrian Twill, (COLORS MUST MATCH TROUSERS IN ITEM 58), As Specified, or Equal	125	EA	\$19.50	\$2,437.50		DICKIES	1574		
21	Shirt, Short Sleeve, Edwards 1212, Men's, As Specified, or Equal	25	EA	\$26.75	\$668.75		EDWARDS	1212		

Introduced on: May 21, 2025
Adopted on: ANALY 21, 2025
PAGENTAL AND ANALY 21, 2025
Adopted on: ANALY 21, 2025
Adopted on: ANALY 21, 2025
Adopted on: ANALY 21, 2025
ANALY 2

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
	22	Shirt, Short Sleeve Work, with Mimix, Red Kap Style SX20, Men's, As Specified, or Equal	50	EA	\$26.45	\$1,322.50	,	RED KAP	SX20		
L	23	Shirt, Long Sleeve, Edwards 1262, Men's, As Specified, or Equal	20	EA	\$27.75	\$555.00		EDWARDS	1262		
Ų	24	Shirt, Long Sleeve, Twill, (COLORS MUST MATCH TROUSERS IN ITEM 58), As Specified, or Equal	150	EA	\$21.75	\$3,262.50		DICKIES	574		
\	25	Shirt, Long Sleeve Work, with Mimix, Red Kap Style SX10, Men's, As Specified, or Equal	50	EA	^ \$27.50	\$1,375.00		RED KAP	SX10		
V	26	Sweater, Quarter Zip, Jersey Knit, . Edwards 712, As Specified, or Equal	5 .	EA	\$24.75	\$123.75		EDWARDS	712	,	

Introduced on: May 21, 2025
Adopted PRISONET ARMAY 21, 2025
RESPONSE DOCUMENT REPORT
Official Resolution#: 2025000658
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS
Page 10

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
27	Sweatshirt, Cadet Collar, Jerzees 995M, As Specified, or Equal	125	EA	\$15.95	\$1,993.75		JERZEES	995M		EMBROIDERED ITEMS \$21.95
28	Sweatshirt, Crew Neck, Men's, Jerzees 562M, As Specified, or Equal	175	EA	\$12.75	\$2,231.25		PORT & CO.	PC78		EMBROIDERED ITEMS \$17.75
29	Sweatshirt, Hooded, Fleece, District Perfect Weight DT1101, As Specified, or Equal	15	EA	\$21.95	\$329.25		DISTRICT	DIDT1101		
30	Sweatshirt, Hooded, Heavyweight, Rain Defender Paxton Carhartt 100615, As Specified, or Equal	205	EA	\$47.95	\$9,829.75	4	CARHARTT .	100615		
31	Sweatshirt, Hooded, Mid Weight Loose Fit, Class 3, High Visibility , Carhartt Style 104987, As Specified, or Equal	70	EA	\$44.75	\$3,132.50		WF	8366B		

Introduced on: May 21, 2025
Adopted On: May 21, 2025
Official Resolution#: 2025000655
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

[KEYPORT ARMY NAVY] RESPONSE DOCUMENT REPORT Bid No. TBD WORK CLOTHES FOR VARIOUS DEPARTMENTS

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
	32	Sweatshirt, Hooded, As Specified, or Equal	75	EA -	\$17.95	\$1,346.25		PORT & CO.	РС78Н		
	33	Sweatshirt, Hooded Pull- Over, Jerzees 996MR, As Specified, or Equal	10	EA	\$17.95	\$179.50		PORT & CO.	РС78Н		
V	34	Sweatshirt, Hooded, Zipper Front, Midweight, Carhartt K122, As Specified, or Equal	50	EA	\$44.95	\$2,247.50		CARHARTT	K122		
	35	Sweatshirt, Jerzees 4999, Unisex, As Specified, or Equal	15	EA	\$24.95	\$374.25		PORT & CO.	PC90ZH		
l	36	Sweatshirt, Zip Up, Carhartt 100632, As Specified or Equal	175	EA	\$46.95	\$8,216.25		CORNERSTONE	CS620		
V	37	T-Shirt, Long Sleeve, Class 3, Force High Visibility, Carhartt 100496 , As Specified, or Equal	50	EA	\$26.95	\$1,347.50		WF	8392/8393		

Introduced on: May 21, 2025
Adopted DT: MAY 21, 2025
Official Resolution# A 202500665 RESPONSE DOCUMENT REPORT
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
. 38	T-Shirt, Long Sleeve, Jersey, Jerzees Dri- Power 29LSR, As Specified, or Equal	130	EA	\$9.75	\$1,267.50		PORT & CO.	PC55LS		EMROIDERED ITEMS \$16.75
39	T-Shirt, Long Sleeve, Jerzees 100% Cotton, As Specified, or Equal	155	EA	\$8.95	\$1,387.25		PORT & CO.	PC54LS		
40	T-Shirt, Crew Neck, 100% Cotton, Men's, As Specified, or Equal	450	EA	\$6.75	\$3,037.50		PORT & CO.	PC43		
. 41	T-Shirt, Short Sleeve, Force High-Visibility, Carhartt Style 100495, As Specified, or Equal	50	EA	\$22.00	\$1,100.00		WF	8490/8491		
42	T-Shirt, Short Sleeve, Hanes 5170, Heavyweight, As Specified, or Equal	1,400	EA .	\$6.75	\$9,450.00		HANES	5170		2 LOGO ITEMS \$9.75
43	T-Shirt, Short Sleeve, Jerzees 100% Cotton, As Specified, or Equal	280	EA	\$5.95	\$1,666.00		PORT & CO.	PC54		

Introduced on: May 21, 2025
Adopted PE: ORT A May 21, 2025
RESPONSE DOCUMENT REPORT
Official Resolution## 2025000658
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS
Page 13

[KEYPORT ARMY NAVY] RESPONSE DOCUMENT REPORT Bid No. TBD WORK CLOTHES FOR VARIOUS DEPARTMENTS

1	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
	44	Tank Top, Lifeguard, Gildan 2200, As Specified, or Equal	50	EA	\$7.95	\$397.50		GILDAN	2200		
	45	Top, Zip Up Training, CN9492, As Specified, As Specified, or Equal	5	EA .	\$49.95	\$249.75		NIKE	CN9492		
V	46	Top, Scrub, with Front Pockets, Uniform Advantage UA71C, As Specified, or Equal	10	EA	\$17.95	\$179.50		DICKIES	83706	,	
V	47	Top, Smock, WearGuard DEF-631, As Specified or Equal	10	EA	\$27.95	\$279.50		EDWARDS	7887		
	48	Windbreaker, Full Zip Force, Men's, A4 #N4264, As Specified, or Equal	5	EA	\$49.95	\$249.75		A4	N4264		
,	49	Windshirt, UltraClub 8936, Men's, As Specified, or Equal	100	EA	\$24.95	\$2,495.00		PORT AUTHORITY	J343		

Introduced on: May 21, 2025
Adopted Op: DORT A May 21, 2025
PRESPONSE DOCUMENT REPORT
Official Resolution# 2025000655
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

	. Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
		Work Coat, Bob Barker 652, Blanket Lined, Brass Buttons, As Specified, or Equal		EA	No Bid	No Bid	X				
	PANTS	Maria A.			A SERVE						Single to
V	51	Jeans, Men's, Dickies, As Specified, or Equal	150	PR	\$23.25	\$3,487.50 ~		DICKIES	9393		
ν	52	Pants, Carpenter, Men's, Dickies 1939, As Specified, As Specified, or Equal	100	PR	\$27.95	\$2,795.00		DICKIES	1939		
l	53	Pants, Pro with Mimix, Red Kap PX62, Men's, As Specified, or Equal	50	EA	\$33.95	\$1,697.50		RED KAP	PX62		
١	54	Pants, Scrub, Dickies, As Specified, or Equal	10	PR	\$16.95	\$169.50		DICKIES	83006		
ť	55	Pants, Work, Men's Carhartt Style B136, As Specified, or Equal	65	PR	\$39.95	\$2,596.75		DICKIES	DP903		

Introduced on: May 21, 2025
Adopted on: Alay 21, 2025
Official Resolution## 2025000655
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comment
<b>7</b> 56	Sweatpants, Jerzees 973, As Specified, or Equal	25	EA	\$16.75	\$418.75		JERZEES	973		
57	Trousers, RedKap Industries PT2ONV, Men's, As Specified, or Equal	15	PR	\$20.95	\$314.25		RED KAP	PT20		
58	Trousers, Twill, Dickies, (COLORS MUST MATCH SHIRTS IN ITEM 20 AND/OR ITEM 24), As Specified, or Equal	150	EA	\$24.75	\$3,712.50		DICKIES	874		
INWEAR	<u> </u>		-1							
59	Coat, Rain Defender, Relaxed Fit Lightweight, Women's, Carhartt Item 104221, As Specified, or Equal	5	EA	\$59.95	\$299.75		CARHARTT	104221		
60	Rainsuit, 2- Piece, Frogg Toggs Ultra- Lite2, UL12104- 08, As Specified, or Equal	90	EA	\$28.75	\$2,587.50		FROGG TOGGS	UL12104-08		

Introduc<del>ed on: May 21, 2025 |
Adopted on: May 21, 2025 |
Adopted on: Adopted </del>

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
V	61	Rainwear, 3- Piece, Protective Industrial Products Rainsuit 4035, As Specified, or Equal	50	EA	\$22.95	\$1,147.50		WF	\$8900		
l	62	Rainwear, Class III, Jacket Suit, Comfort-Brite, As Specified, or Equal	50	EA	\$74.95	\$3,747.50	,	WF	GSM1351JBP		9.7
L	63	Rainwear, Class III, SP Workwear Premium Breathable Rain Jacket, As Specified, or Equal	15	EA	\$40.95	\$614.25		WF	GSM1351J		
L	64	Rainwear, Class E, Bib Pants, SP Workwear, As Specified, or Equal	50	PR	\$42.95	\$2,147.50		WF .	GSM1351BP		
	SAFETY CLOTHIN	lG.	Traji.		i i i	40.00					
	65	Belt, Safety Back, Northern Safety Model 23923, As Specified or Equal	10	CASE	\$360.00	\$3,600.00		WORK FORCE	BSB		,

Introduced on: May 21, 2025
Adopted on: Way 21, 2025
PESPONSE DOCUMENT REPORT
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

[KEYPORT ARMY NAVY] RESPONSE DOCUMENT REPORT Bid No. TBD WORK CLOTHES FOR VARIOUS DEPARTMENTS

		-			Heit Cont	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
Y	Line Item 66	Description  Cooling Towel, OccuNomix 931- BL, Miracool PVA, As Specified or Equal	Quantity 100	Unit of Measure EA	Unit Cost \$7.95	\$795.00	NO BIU	OCCUNOMIX	931	belivery, A.A.O.	comments
	67	Jacket, Class III Waterproof, Carhartt 100499, As Specified, or Equal	50	EA	\$103.00	\$5,150.00		PORTWEST	PW360		
V	68	T-Shirt, Class III, Short Sleeve, Hi- Vis with Max- Dri, As Specified, or Equal	20	EA	\$14.50	\$290.00		WF	8340		
V	69	Vest, Breakaway Hi-Vis Safety, Polyester Mesh, Berkley Breakaway Vests, #S-16171, As Specified or Equal	100	EA	\$9.75	\$975.00		WF	VM2	·	
	70	Vest, Class III Mesh Traffic Safety, Northern Safety and Industrial 29786, As Specified or Equal	500	EA	\$12.75	\$6,375.00		WF	GSCS8336		

Introduced on: May 21, 2025
Adopted Articles of the Policy of the Policy

[KEYPORT ARMY NAVY] RESPONSE DOCUMENT REPORT Bid No. TBD WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
71	Vest, Class III Mesh Traffic Safety, Bob Barker Item 8018B, NO METAL PARTS, Velcro Closure, As Specified, or Equal,	60	EA	\$14.75	\$885.00		WF	EN533C3		
72 PENAL CLOTHIN	Vest, Surveyor, Class III, Solid/Mesh, Two-Toned 8- pocket, ANSI, As Specified, or Equal	15	EA	\$17.95	\$269.25		WF	8312MZ		
			· · ·		· · · · · · · · · · · · · · · · · · ·	R.		1		
<b>73</b>	Pants, for 2- Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or Equal		PR	No Bid	No Bid	X				e.
74	Shirt, for 2-Piece Inmate Suit, Charm-Tex, with Screen Print, As Specified, or Equal		EA	No Bid	No Bid	х				

Introduced on: May 21, 2025
Adopted pp: All 2025
Official Resolution# 2025000693 RESPONSE DOCUMENT REPORT
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS
Page 19

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
BOOTS, SNEAKE	RS, AND WADERS		A STATE OF THE STA	A CONTRACTOR						And a second
81	Boots, Deck, XTRATUF AIMN100, Shearling Lining, As Specified, or Equal	75	PR	\$110.00	\$8,250.00		XTRATUFF	AIMN100		
82	Boots, Deck, XTRATUF AIMR300, As Specified, or Equal	40	PR	\$110.00	\$4,400.00		XTRATUFF	AIMR300		
83	Boots, Hip, LaCrosse 152030, As Specified, or Equal	20	PR	\$135.00	\$2,700.00		LACROSSE	152030		
84	Boots, Hip, Insulated, LaCrosse 109050, As Specified, or Equal	120	PR	\$75.00	\$9,000.00		WF	B78		
85	Boots, Knee, Rubber, Rothco 5117, As Specified, or Equal		PR .	No Bid	No Bid	х				2
86	Boots, Slush, Wear-Guard, As Specified, or Equal	15	PR	\$44.95	\$674.25		WF	79		

Introduced on: May 21, 2025
Adopted on: A May 21, 2025
Official Resolution#: 2025000658
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

[KEYPORT ARMY NAVY] RESPONSE DOCUMENT REPORT Bid No. TBD WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
87	Boots, Twin Gore, Bob Barker TG PD, As Specified, or Equal		PR	No Bid	No Bid	X				
88	Boots, Work, Muck Boot Co., Chore Hi Boot, As Specified, or Equal	125	PR	\$104.00	\$13,000.00		MUCK	СНН000А		, ·
89	Sneakers, Step- in, Bob Barker Economy Canvas, Unisex, As Specified, or Equal		PR ·	No Bid	No Bid	х				
90	Sneakers, Velcro Closure High Top, Bob Barker, As Specified, or Equal		PR	No Bid	No Bid	х				
91	Waders, Amphib Cleated Bootfoot, Chest, FroggToggs 2713243, Unisex, As Specified, or Equal	25	PR	\$190.00	\$4,750.00		FROGG TOGGS	2713243		

Introduced on: May 21, 2025
Adopted on: A Way 21, 2025
PAGENTAL A WAY 2025
Adopted on: A Way 21, 2025

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
92	Waders, Chest, Cabela's White River Fly Shop Three Forks, Unisex, As Specified, or Equal	15	PR	\$140.00	\$2,100.00		CABELA'S	100194175		
93	Waders, Chest, Pro Line 3112, As Specified, or Equal	25	PR	\$224.00	\$5,600.00		LACROSSE	191200/908250		
94	Waders, Hip, Pro Line, As Specified, or Equal	15	PR	\$120.00	\$1,800.00		FROGG TOGGS	2716248C		
SLOVES				15				VI .		
95	Gloves, Driver's, Northern Safety & Industrial 2580, Premium Goatskin Leather, As Specified, or Equal	45	PR	\$11.00	\$495.00		WF	37GK		
96	Gloves, Insulated, Grip Palm, Carhartt, Style A511, As Specified, or Equal	15	DOZ	\$287.50	\$4,312.50		CARHARTT	A511		
97	Gloves, Jersey, Broner 11-3, As Specified or Equal	200	PR	\$1.95	\$390.00		WF	1-49		

Introduced on: May 21, 2025
Adopted on: Aday 21, 2027
Adopted on: Aday 21, 2027
Official Resolution # 2025000688
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
98	Gloves, Jersey Lined, Galeton, As Specified, or Equal	15	DOZ	\$23.95	\$359.25		WF	1-414		2
99	Gloves, Mechanix Wear MPT-52-009 M- Pact, Open Cuff, As Specified, or Equal	200	PR	\$64.75	\$12,950.00		MAJESTIC	21472BK		
100	Gloves, Touch Screen Capable, Carhartt, Style GN0780M, As Specified, or Equal	15	DOZ	\$132.00	\$1,980.00	,	CARHARTT	GN0780M		
101	Gloves, Work, Canvas Back, Renegade 2200, As Specified, or Equal	550	PR	\$8.75	\$4,812.50		RENEGADE	2200		
102	Gloves, Work, Knit Summer, Atlas ASUMG, As Specified or Equal	650	PR	\$6.95	\$4,517.50		BRONER	31-350		MINIMUM 1 DOZEN PER SIZE
103	Gloves, Work, Leather Palm, Split Side, NS Hand Protection 3120, As Specified, or Equal	360	PR	\$7.95	\$2,862.00		WF	31-1		

Introduced on: May 21, 2025
Adopted on: AMay 21, 2025
Official Resolution#: 2025000655
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

								21			
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
	104	Gloves, Work, Mechanix Wear SMP-91, Hi-Viz, As Specified, or Equal	100	PR	\$49.95	\$4,995.00		MAJESTIC	21242H0		
<b>√</b>	105	Gloves, Work, Stretch Back, MCR Safety Cut Pro Style 917, As Specified or Equal	30	PR	\$19.00	\$570.00		WF	J-42553G		
	HATS, CAPS AND	ACCESSORIES						8			
	106	Belt, #1205 - Hero's Pride Ballistic Nylon Deluxe Inner Duty, As Specified, or Equal		EA	No Bid	No Bid	X				ī
	107	Brow Pad, Bullard RBPCOTTON, As Specified, or Equal	v <b>-</b>	EA	No Bid	No Bid	X				
	108	Camouflage Hat, Dri Duck Mallard 3254, As Specified, or Equal	300	EA .	\$16.75	\$5,025.00		DRI DUCK	3254		
	109	Cap, Mesh Baseball, As Specified, or Equal		EA	No Bid	No Bid	x				

Introduced on: May 21, 2025
Adopted PR: PORT A MAY 27, 2025
RESPONSE DOCUMENT REPORT
Official Resolution#: 2025000655
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS
Page 25

Line	Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
1:	10	Cap, Watch, As Specified, or Equal	50	EA	\$3.95	\$197.50		PORT & CO.	CP90		
2 1		Hard Hat, OccuNomix Vulcan V200, NO SUBSTITUTIONS	200	EA	\$19.95	\$3,990.00		OCCUNOMIX	V200		
1	12	Hard Hat Liner, OccuNomix XX301, As Specified, or Equal	149	EA	\$10.95	\$1,631.55		OCCUNOMIX	RQ301		9
1	.13	Hat, Beanie, Carhartt Item A18, As Specified, or Equal	275	EA	\$14.50	\$3,987.50		CARHARTT	A18		
1	114	Hat, Visor, HitWear 1035, As Specified, or Equal	250	EA	\$7.95	\$1,987.50		PORT & CO.	CP45		EMBROIDERED ITEMS \$12.95

## SECTION II - DISCOUNT PERCENTAGE FOR ITEMS NOT SPECIFIED HEREIN

Line Item	Description	Unit of Measure	Percentage	No Bid	Comments
115	Discount Percentage (%) for Work Clothes Not Specified Herein (NOT LESS THAN), As Specified	%	10%		

Introduced on: May 21, 2025
Adopted on: ARY 21, 2027
Official Resolution#: 2025000655
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

[SEASIDE COMPANIES LLC] RESPONSE DOCUMENT REPORT Bid No. TBD WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
OPS (JACKETS,	SHIRTS, SWEATSHIRT		#### #1 _ /#LTE(#10 7 }##							
1	Golf Shirt, Short Sleeve (NO POCKET), Gildan 82800, As Specified or Equal	70	EA	\$20.36	\$1,425.20		Gildan	85800	30 days	
. 2	Golf Shirt, Short Sleeve, Jerzees J300, (No Pocket), As Specified, or Equal	210	EA	\$23.10	\$4,851.00		Jerzees	437	30 days	
3	Golf Shirt, Short Sleeve, UltraClub Style 8210, Men's, As Specified, or Equal	150	EA	\$34.83	\$5,224.50		UltraClub	8210	30 days	
4	Golf Shirt, Short Sleeve, UltraClub Style 8534, (With Pocket), As Specified, or Equal	150	EA	\$44.60	\$6,690.00		Nike	NKDC2103	30 days	
5	Jacket, Carhartt J140, Style 106673 As Specified, or Equal	75	EA	\$112.14	\$8,410.50		Carhartt	CT106677	30 days	,

Introduced on: May 21, 2025

Adopted Resolution#: 202500655
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer		Delivery, A.R.O.	Comments
OOTS, SNEAKE	RS, AND WADERS									
81	Boots, Deck, XTRATUF AIMN100, Shearling Lining, As Specified, or Equal	75	PR	\$230.75	\$17,306.25		XtraTuf	AIMN100	10 days	
82	Boots, Deck, XTRATUF AIMR300, As Specified, or Equal	40	PR	\$207.69	\$8,307.60		XtraTuf	AIMR300	10 days	
83	Boots, Hip, LaCrosse 152030, As Specified, or Equal	20	PR	\$276.92	\$5,538.40		Lacrosse	152030	10 days	
84	Boots, Hip, Insulated, LaCrosse 109050, As Specified, or Equal	120	PR	\$276.92	\$33,230.40	ź	Lacrosse	700066	10 days	
85	Boots, Knee, Rubber, Rothco 5117, As Specified, or Equal	10	PR .	\$69.22	\$692.20		Rothco	5117	10 days	
86	Boots, Slush, Wear-Guard, As Specified, or Equal	15	PR	\$83.06	\$1,245.90		WearGuard	4022	10 days	

Introduced on: May 21, 2025
Adopted Resolution#: 2025O00655
Official Resolution#: 2025000655
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comment
92	Waders, Chest, Cabela's White River Fly Shop	15	PR	\$103.05	\$1,545.75	NO BIU	Cabelas	100194175	10 days	Comment
``	Three Forks, Unisex, As Specified, or Equal				,					
93	Waders, Chest, Pro Line 3112, As Specified, or Equal	25	PR	\$129.15	\$3,228.75		ProLine	3112	10 days	
94	Waders, Hip, Pro Line, As Specified, or Equal	15	PR	\$46.08	\$691.20		ProLine	2010	10 days	
GLOVES	. 2	5.			<del> </del>	ć				
95	Gloves, Driver's, Northern Safety & Industrial 2580, Premium Goatskin Leather, As Specified, or Equal	45	PR	\$26.92	\$1,211.40		Norhtern Safety	2580	10 days	
96	Gloves, Insulated, Grip Palm, Carhartt, Style A511, As Specified, or Equal	15	DOZ	\$553.68	\$8,305.20		Carhartt	A511	10 days	
97	Gloves, Jersey, Broner 11-3, As Specified or Equal	200	PR	\$13.85	\$2,770.00		Broner	11-3	10 days	
ed on:	May 21, 2025		1.		L i					

Introduced on: May 21, 2025

Adopted on: May 21, 2025

Official Resolution#: 20250006655

Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

Ī	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
	98	Gloves, Jersey Lined, Galeton, As Specified, or Equal	15	DOZ	\$25.00	\$375.00		Galeton	1114	10 days	
V	99	Gloves, Mechanix Wear MPT-52-009 M- Pact, Open Cuff, As Specified, or Equal	200	PR	\$44.60	\$8,920.00		Mechanix	MPT-52-009	10 days	
	100	Gloves, Touch Screen Capable, Carhartt, Style GN0780M, As Specified, or Equal	15	DOZ	\$19.98	\$299.70		Carhartt	GN0780	10 days	
	101	Gloves, Work, Canvas Back, Renegade 2200, As Specified, or Equal	550	PR	\$15.38	\$8,459.00		Cordova	2200	10 days	
	102	Gloves, Work, Knit Summer, Atlas ASUMG, As Specified or Equal	650	PR	\$10.75	\$6,987.50		Atlas	ASUMG	10 days	
	103	Gloves, Work, Leather Palm, Split Side, NS Hand Protection 3120, As Specified, or Equal	360	PR ·	\$8.06	\$2,901.60		Liberty Safety	3120	10 days	

Introduced on: May 21, 2025
Adopted OPI SIDE CO MAY 1, 2025
Official Resolution# 2025 00555
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS
Page 24

[SEASIDE COMPANIES LLC] RESPONSE DOCUMENT REPORT-Bid No. TBD WORK CLOTHES FOR VARIOUS DEPARTMENTS

	***										
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
V	104	Gloves, Work, Mechanix Wear SMP-91, Hi-Viz, As Specified, or Equal	100	PR	\$61.37	\$6,137.00		Mechanix	SMP-91	10 days	
	105	Gloves, Work, Stretch Back, MCR Safety Cut Pro Style 917, As Specified or Equal	30	PR	\$21.68	\$650.40		MCR Safety	9178NF	10 days	
	HATS, CAPS AND	ACCESSORIES	0 1	, I							
	106	Belt, #1205 - Hero's Pride Ballistic Nylon Deluxe Inner Duty, As Specified, or Equal	15	EA	\$36.40	\$546.00		Hero's Pride	1205	10 days	
V	107	Brow Pad, Bullard RBPCOTTON, As Specified, or Equal	15	EA	\$8.32	\$124.80		Bullard	RBPCOTTON	10 days	
	108	Camouflage Hat, Dri Duck Mallard 3254, As Specified, or Equal	300	EA	\$24.23	\$7,269.00		Dri Duck	3254	10 days	
	109	Cap, Mesh Baseball, As Specified, or Equal	10	EA	\$15.22	\$152.20		Sport-Tek	SCT60	10 days	

Introduced on: May 21, 2025
Adopted on: Ad

## [SEASIDE COMPANIES LLC] RESPONSE DOCUMENT REPORT Bid No. TBD WORK CLOTHES FOR VARIOUS DEPARTMENTS

			0	11-14-584	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
	Line Item	Description	Quantity	Unit of Measure			NO BIG				comments
	110	Cap, Watch, As Specified, or Equal	50	EA	\$32.31	\$1,615.50		Carhartt	CT104597	10 days	
2 to 1.	111	Hard Hat, OccuNomix Vulcan V200, NO SUBSTITUTIONS	200	EA	\$21.22	\$4,244.00		Occunomix	V200	10 days	
	/ 112	Hard Hat Liner, OccuNomix XX301, As Specified, or Equal	149	EA	\$8.91	\$1,327.59		Occunomix	RK800	10 days	
	113	Hat, Beanie, Carhartt Item A18, As Specified, or Equal	275	EA	\$32.31	\$8,885.25		Carhartt	CT104597	10 days	
	114	Hat, Visor, HitWear 1035, As Specified, or Equal	250	EA	\$11.52	\$2,880.00		HitWear	1035	10 days	

#### SECTION II - DISCOUNT PERCENTAGE FOR ITEMS NOT SPECIFIED HEREIN

Eine Item	Description	Unit of Measure	Percentage	No Bid	Comments
115	Discount Percentage (%) for Work Clothes Not Specified Herein (NOT LESS THAN), As Specified	%	15%	effective on a survey.	

Introduced on: May 21, 2025

Adopted On: DE CO May 21, 2025

Official Resolution#: 2025000655

Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

[THE OLYMPIC GLOVE & SAFETY CO. INC.] RESPONSE DOCUMENT REPORT Bid No. TBD

WORK CLOTHES FOR VARIOUS DEPARTMENTS

I	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
	66	Cooling Towel, OccuNomix 931- BL, Miracool PVA, As Specified or Equal	100	EA	\$8.00	\$800.00		Occunomix	931-BL	7-21	
V	67	Jacket, Class III Waterproof, Carhartt 100499, As Specified, or Equal	50	EA	\$90.00	\$4,500.00		Tingley	S-XL (2-5X 10% HIGHER	7-21	S-XL (2-5X 10% HIGHER
	68	T-Shirt, Class III, Short Sleeve, Hi- Vis with Max- Dri, As Specified, or Equal	20	EA	\$18.00	\$360.00		OCCUNOMIX	LUX-SSETP3B	7-21	
į	69	Vest, Breakaway Hi-Vis Safety, Polyester Mesh, Berkley Breakaway Vests, #S-16171, As Specified or Equal	100	EA .	\$10.00	\$1,000.00		MCR	CL2ML	7-21	M-4XL
ν	70	Vest, Class III Mesh Traffic Safety, Northern Safety and Industrial 29786, As Specified or Equal	500	EA	\$10.00	\$5,000.00		MCR	VCL3MLZ	7-21	M-5XL

Introduced on: May 21, 2025
Adopted PITE OLYMPYEY 30 225 SAFETY CO. INC.] RESPONSE DOCUMENT REPORT Official Resolution#: 2025000555
Bid - WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
92	Waders, Chest, Cabela's White River Fly Shop Three Forks, Unisex, As Specified, or Equal		PR	No Bid	No Bid	х				
93	Waders, Chest, Pro Line 3112, As Specified, or Equal		PR	No Bid	No Bid	х				
94	Waders, Hip, Pro Line, As Specified, or Equal		PR	No Bid	No Bid	х				
LOVES								0		
95	Gloves, Driver's, Northern Safety & Industrial 2580, Premium Goatskin Leather, As Specified, or Equal	45	PR	\$4.35	\$195.75		CORDOVA	8500	7-21	SOLD IN 12 PR PKS
96	Gloves, Insulated, Grip Palm, Carhartt, Style A511, As Specified, or Equal	15	DOZ	\$8.20	\$123.00		CORDOVA	7465LKW	7-21	SOLD IN 12 PR PKS
, <sub>97</sub>	Gloves, Jersey, Broner 11-3, As Specified or Equal	200	PR	\$0.65	\$130.00		CORDOVA	1400P	7-21	SOLD IN 12 PR PKS

Introduced on: May 21, 2025

Adopted pre: OLYMPN 26 20 20 40 45 SAFETY CO. INC.] RESPONSE DOCUMENT REPORT Official Resolution# 2025/00655 FOR VARIOUS DEPARTMENTS

[THE OLYMPIC GLOVE & SAFETY CO. INC.] RESPONSE DOCUMENT REPORT Bid No. TBD WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
98	Gloves, Jersey Lined, Galeton, As Specified, or Equal	15	DOZ	\$1.55	\$23.25		CORDOVA	1600	7-21	SOLD IN PR PKS
99	Gloves, Mechanix Wear MPT-52-009 M- Pact, Open Cuff, As Specified, or Equal	200	PR	\$17.00	\$3,400.00		CORDOVA	8507	7-21	A5 CUT
100	Gloves, Touch Screen Capable, Carhartt, Style GN0780M, As Specified, or Equal	15	DOZ	\$6.10	\$91.50		CORDOVA	3988	7-21	SOLD IN 12 PR PKS
101	Gloves, Work, Canvas Back, Renegade 2200, As Specified, or Equal	550	PR	\$5.60	\$3,080.00		CORDOVA	7500	7-21	SOLD IN 12 PR PKS
102	Gloves, Work, Knit Summer, Atlas ASUMG, As Specified or Equal	650	PR	\$2.65	\$1,722.50		LIBERTY GLOVE	300	7-21	SOLD IN 12 PR PKS
103	Gloves, Work, Leather Palm, Split Side, NS Hand Protection 3120, As Specified, or Equal	360	PR	\$4.95	\$1,782.00		CORDOVA	1051	7-21	SOLD IN 12 PR PKS

Introduced on: May 21, 2025
Adopted PRE OLYMPM 20 20 SAFETY CO. INC.] RESPONSE DOCUMENT REPORT Official Resolution#: 202500655 OR VARIOUS DEPARTMENTS

[THE OLYMPIC GLOVE & SAFETY CO. INC.] RESPONSE DOCUMENT REPORT

WORK CLOTHES FOR VARIOUS DEPARTMENTS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Style	Delivery, A.R.O.	Comments
110	Cap, Watch, As Specified, or Equal	, ,	EA	No Bid	No Bid	х				
111	Hard Hat, OccuNomix Vulcan V200, NO SUBSTITUTIONS		EA	No Bid	No Bid	X				
112	Hard Hat Liner, OccuNomix XX301, As Specified, or Equal		EA	No Bid	No Bid _	Х				
. 113	Hat, Beanie, Carhartt Item A18, As Specified, or Equal		EA	No Bid	No Bid	Х				
114	Hat, Visor, HitWear 1035, As Specified, or Equal		EA	No Bid	No Bid	X				

# SECTION II - DISCOUNT PERCENTAGE FOR ITEMS NOT SPECIFIED HEREIN

Line Item	Description	Unit of Measure	Percentage	No Bid	Comments
	Discount Percentage (%) for Work Clothes Not Specified Herein (NOT LESS THAN), As Specified	%	20%		Several Manufacturer' List Price

Introduced on: May 21, 2025
Adopted THE OLYMPM SECOND S SAFETY CO. INC.] RESPONSE DOCUMENT REPORT Official Regulation & COSTON OF COSTON